Pascal
clamp cylinder 25 wpa

model CDA-CGA-CJA  H Ef

Pascal

www.pascaleng.co.jp



CDA Tyvav )z 25MPa HE
A=\
Ik
VR—=2RT I
LV il
AT AVINO N T2V ) AT, SRER—F
ROEAMNCEBEVIESZFRIFTTVET,
=t Bk
HAX 2L —IN s —)LitE
1 ®|ELS | NBR(1Z#)
CDA -
2.5 - 7vRIAL
¥ IERRYHIEN S & AR (Max.150°0) EL T 7 vEDT LE
BALTWET,

5 CDA1 CDA2.5
ZkO—2 mm 10 16

SHEA] 3.5 MPa kN 1.5 3.4
PN Nl SHEA 7 MPa kN 3.1 6.9

SHEA] 25 MPa kN 11.2 25.2
)V RARE mm 24 36
(m I NS mm 14 18
) A EE cm? 4.52 10.18
RATME L/min 1.4 3.1
U RRE cm? 4.5 16.3
URA—=2R TG *2 N 67 ~ 105 150 ~ 258
g 2 kg 1.0 2.4

JHESIEE 1 2~25

MPa

(REFFE S :37.5 MPa
TPAY MEAGEIRE LTREEN PSR F UG EAAB SR

X1V AR AEA SO =V RRABTOETY,

Rc 1/4
\ % 4-F
! ﬁ

oL

Z2hO—7

4F 2y TR

BRBERE:0~70 °C

RN —ARIEY R AEEDH (1ISO-VG3248)
HEDBVRETEELTLEL,

%2 E—Y AT AIFER Y Tt~ LR IBOEERLET,
Nt ER
mm
el CDA1 CDA2.5
oA 50 68
2B 40 55
oC 14 18
57.5 83.5

M8 X 1.25 F&22

M12X1.75 #®&27

M8 X 1.25 K& 13

MT0X 1.5 %®&E15

&

12 14
6.5 8.5
65 93
ok 26 36
RARA ol 6.8 8.5
22 30




CGA Tz 25MPa  EiF)
A=\
IRV RR—F
M5
SYTNTAVIIMET LTIV ETT, S 27)¥7
ROERVICEBEYILDERITTOET,
3
PEPS RGL—I% - = IUiE
1
25 WIS | NBR(15%)
CGA -
4 PV 7vRdL
6 HOBRARTHIRN R - B4R (Max.150°0) £L T TvERILE
EALTLET,
B = CGA1 CGA2.5 CGA4 CGA6
AbO—2 mm 6 8 10 12
S 3.5 MPa kN 13 33 5.4 8.8
SUZEEA | SHES 7 MPa kN 2.6 6.8 1.1 17.9
S 25 MPa kN 9.4 24.8 405 64.9
2T ENE mm 26 40 52 65
A R mm 14 18 25 30
2> S ER cm? 3.77 10.02 16.33 26.11
BARE L/min 1.1 3.0 4.9 7.8
SIVEBE cm’ 2.2 8.0 16.3 313
YE=YRTUS G H = N 40 ~ 84 131 ~ 290 179 ~ 427 269 ~ 430
g 8 kg 0.4 1.0 1.5 3.1

SHE 1% 1 2~25 MPa
IT7ANYMMERGHEBELTLIEETV TEAY T DG ENABZE!
X1V UAEHEA SO =R RABTOETY,

Zko—2
H

LA
°n Fg\uf

SHER—b S

RC1/4(CGA1DHRCI/B)  SRABA

fREFfTES]:37.5 MPa

fERAEEE:0~70 °C
HEDBVRETEELTLEL,
21 )R=2 ATV T HIEFER Y LRI~ T RIHDEEZRLET,

RN —ARIEY R AEEDH (1ISO-VG3248)

NS EE
mm
Iy CGA1 CGA2.5 CGA4 CGA6
oA 40 55 65 85
oB 30 40 50 55
oC 14 18 25 30
D 50 63 70 82
c M8x1.25 M12X1.75 M16X2 | M20Xx2.5
HRE22 RE27 RE33 | FRE36.5
. M6X1 | M8X1.25 M8xX1.25 M8x1.25
EEN EE13 EE13 EE13
G 10 13.5 13.5 15.5
H 6.5 8.5 10.5 12.5




CJA Tyoa/TIV )R 25MPa HEigj
ATL—IN
IF7NRVMR—b
M5
EArroEB N ZFMABLTTyav g YE—YRTYDY
ELTETIVV)RELTHRIBTEEY,
e Fx
VPN 2IL—IN - —UHE
1
2.5 #\325 | NBR(1E#)
CJA —
4 e oysdAL
6 XOEERZRYEHNE - 5B 4H Max.150°C) EL T 7 vEILE
RELTWET,
B R CJA1 CJA2.5 CJA4 CJA6
ZkO—72 mm 6 8 10 12
JREA 3.5 MPa kN 1.3 3.4 55 8.7
PN Nl SHEA 7 MPa kN 2.6 6.9 11.2 17.9
JHEA 25 MPa kN 9.4 24.9 40.6 64.9
AN E mm 26 40 52 65
0w KR mm 14 18 25 30
)R EE cm? 3.77 10.02 16.33 26.11
RAME L/min 1.1 3.0 4.9 7.8
VU RRE cm? 2.2 8.0 16.3 31.3
JR—2V 2T *2 N 44 ~ 67 121~ 178 171 ~ 250 275 ~ 559
g5 = kg 0.4 1.0 1.5 3.1

SHE 1% 1 2~25 MPa
IT7ANYMMERGHEBELTLIEETV TEAY T DG ENABZE!
X1V UAEHEA SO =R RABTOETY,

fREFfTES]:37.5 MPa

BRBERE:0~70 °C

RN —ARIEY R AEEDH (1ISO-VG3248)

HEDBVRETEELTLEL,

21 )R=2 ATV T HIEFER Y LRI~ T RIHDEEZRLET,

AR ER
mm
O CJA1 CJA2.5 CJA4 CJA6
oA 40 55 65 85
BN
I oB 30 40 50 55
Oz
R oC 14 18 25 30
D 50 63 70 82
a ok 8.5 12.5 16.5 20.5
F M6 X 1 M8X1.25 | M8X1.25 | M8X 1.25
AE w13 ARE13 wRE13
10 13.5 13.5 15.5
o H 6.5 8.5 10.5 12.5
=LA
(@ i
° QSOCOTEC chbsa
%2_31?5_9 JAY Z 7] ”/ *ﬂi :_Et % *i TR
AT L ZER it T664-8502 EERFAMTEM2 TH14-7 ) R
g*ﬁliﬂ\g@t@%::@(gﬁﬁ'éutb HIVET, T 1SO9001 EEEIEHXT;E.F
CTEREEL, TEL. 072-777-3521 FAX. 072-777-3520 vt QL s S



